SuMPO v Third party verified

. E p D Environmental Product Declaration
¢

Confromance with

VERIFIED 1ISO14025 1ISO14040 1ISO14044
SUMPOEREIANI FOY5 L (SUMPO EPD)

LY RIIWEFTO5 VMRSt
Central Glass Products Co.,Ltd
RELUBRERR

Silvered flat-glass mirror

(@ RS BFT092Y

BERES wiESER NS IREEE #hHEARE EPDY1T
SuMPO-EPD-2601-83-1 2026/1/19 2026/1/27 2031/1/18 JIV-THGREPD
HEHSNEB A EHIIRARA
BI0ERIRIR EPDIIRAEHARI CHoTE, EFF R E AR RILEBREZILDHYET,
EPDORFTIRE SO B LR T BCHA T ERRL TS,
1SO21930:2007

https://ecoleaf-label.jp/epd/search



ZHES) SUMPO-EPD-2601-83-1 SuMPO

.EPD

VERIFIED

Environmental Product Declaration for Silvered flat-glass mirror

Q@ EXIBIR
>T0YIL1ER
T0J3 L% SUMPORRIESNIL OIS L
TOISLARL-5-  —HEEATATH VR E &S
FriEH: HEABTREXR#ET-14-8 KANDA SQUARE GATE 4F
1Y b https://ecoleaf-label.jp

> GPI-PCRIE#

GPI SuMPO EPD Japan General Program Instructions v.2.0.1
PCRAFR BEMRUESRER
PCRE#HZES SuMPO-PCR-01000-2-0-0
PCRZEH 2025%F3H31H

LEa-IxVEER (FE) FEE RE (BERIARFE 2EHR. —RUFEANEET BESDGsHEL VY- BER)
PCRE ZhHABR 203043 H30H

PCRI(TE R AY AT TR
> IRELIESR
1SO14025 % 1MNSO21930:2007 [CHiE>T- 5 = E&8sE
. 0 A A
BRELOTE g AL - REAEICES  EPDYATAR
=R 5= HRT CEBE= I

RIAEXEE FIE)  HHEBZ

> BEPLIRIE
B [SO14040:2006 B [1SO14044:2006 1 1SO14067:2018
REYLARE B 1SO14025:2006 B 1S021930:2007 1 1S021930:2017
[0 EN15804+A2 [J EN50693:2019 (1 ISO/IEC63366:2025

EPDICEEHDIEHR KU EPDICEE HOIBFRICBET 2REERICOVTO— t)Jco S1E(4 EPDEVSEEENMFEET, EPDORBICEIT SIS, HEREIE(ICDL

T, BREEEFITEHNEDELIZEN, EPD [F, WRAE(LHE . B XISAENRILEINZIENHYET, EPDORFIIR. KUPBMEERERT (T,

LUF&RESRL TS, https://ecoleaf-label jp/epd/

EPDOLLER IS, BB ROEEEZ+HCEELE ETEBINEINEESEV ), BRERCBTZEMOI1IY1 )26 2E R L. BRERZCHVTEAE

OREEBELEVTIAZERL VIR ERHYET, EPDOLLEDERICE BIRNEXHFASTENERT S PCRESIBL TS, AEPDIXE S EAZICE I
THY, LEEIFIHEEE I HIY TITONRTNIERY A,

REFETMEREHETHETNERETT, REOASSICLVREANOZEE—HCRERITISNBZEOTEHYE A, e BEURERREANDER
MEEEORESPReE BHMEZBBLTNSNE) | YAVFHE REPARCENETOREEREINE) 2EERIEOTRHVEEA,

MEBFHZAVEEEDS A, F1IVMIIVREFMER RO IRV ST BEEE R, BEYBEEER. HH70- (BT 3REBRE. FE
DOERIIDNTOERTEBYEEA

@EPDHSEEE TR
FEEL BEG  CYIOUBETIOIIURRAM (/R-VaVEEE

s ZEEMRHEAROET1510-21
BWEhEL 0598-53-3005

LCAREREE (FrlE) (PrTh (kXadtovy)
TYNSIWEEFTIOIV YRR R YRSV FIN-TOHIAEEST, BEA-BBEANS
EEEYE ADSE I -IRFEEITV. At (ZEBRMRT) (ARRTIV M BR-ZIEOEATAEH R
(CEEERT D,


https://ecoleaf-label.jp/
https://ecoleaf-label.jp/
https://ecoleaf-label.jp/
https://ecoleaf-label.jp/
https://ecoleaf-label.jp/
https://ecoleaf-label.jp/
https://ecoleaf-label.jp/
https://ecoleaf-label.jp/
https://ecoleaf-label.jp/
https://ecoleaf-label.jp/
https://ecoleaf-label.jp/
https://ecoleaf-label.jp/
https://ecoleaf-label.jp/
https://ecoleaf-label.jp/
https://ecoleaf-label.jp/
https://ecoleaf-label.jp/
https://ecoleaf-label.jp/
https://ecoleaf-label.jp/
https://ecoleaf-label.jp/
https://ecoleaf-label.jp/
https://ecoleaf-label.jp/
https://ecoleaf-label.jp/
https://ecoleaf-label.jp/
https://ecoleaf-label.jp/
https://ecoleaf-label.jp/
https://ecoleaf-label.jp/
https://ecoleaf-label.jp/

ZHES) SUMPO-EPD-2601-83-1 SuMPO

Environmental Product Declaration for Silvered flat-glass mirror .. E I D

JAPAN

VERIFIED

O miEHR
B R L TR BERLUBAESE
II35-9Y-y : MTO
3T35-13: MMOSD
3T135--777F1- : MMOSDSN
1 O 1] =
REAOE 3T35--Yv(YFP1- : MMTOBD
II35--TI9YA - MMTOD
XOREH#
SImtEEE BEMELT k& EME. ZROLAYREDE BHEEDIR G,
=] = AT W _
-y NTES 1t B R

HTOME EH-AT/AEEOERNFRELTUER,
BAfTiERE  JISR3220MB HDMEREEH I 38R
FH EMEOERRICESS
MAFH  ERARE BYEOEARGICETS

FREFRELLIRIL —
BEYA~ (BERS) WRITH
B R JO-MrASAZEERL, KEEEEZRED L CAXAYFL, ElEHERERELEE,
SEITTHA http://www.cg—glass.ip/products/search/

O MK RUMEICREI 2R ER

BRERESR & (%) B5E

EERD 43.0 4297 kg

R 25 25.4 kg

Y-SR 7.1 70.6 kg

RIKER 12 119 kg

FOvA ~ 6.2 61.8 kg

[t <! 0.5 48 kg

Abvk 38.7 386.9 kg

iR 0.01 0.1 kg

i) 0.003 0.03 kg

TREVEE 0.9 9.0 kg
AEMERER G (%) BE

OLEYHRRREEE
IHH EBE (kg-C EHBE (kg-CO; eq)
BRHLUVOEYHRRFZERE 0.00 0.00

RHTICOLZTEREMOEYHERREFTE - -


http://www.cg-glass.jp/products/search/
http://www.cg-glass.jp/products/search/
http://www.cg-glass.jp/products/search/
http://www.cg-glass.jp/products/search/
http://www.cg-glass.jp/products/search/
http://www.cg-glass.jp/products/search/
http://www.cg-glass.jp/products/search/
http://www.cg-glass.jp/products/search/
http://www.cg-glass.jp/products/search/
http://www.cg-glass.jp/products/search/
http://www.cg-glass.jp/products/search/
http://www.cg-glass.jp/products/search/
http://www.cg-glass.jp/products/search/
http://www.cg-glass.jp/products/search/
http://www.cg-glass.jp/products/search/
http://www.cg-glass.jp/products/search/
http://www.cg-glass.jp/products/search/
http://www.cg-glass.jp/products/search/
http://www.cg-glass.jp/products/search/
http://www.cg-glass.jp/products/search/
http://www.cg-glass.jp/products/search/
http://www.cg-glass.jp/products/search/
http://www.cg-glass.jp/products/search/
http://www.cg-glass.jp/products/search/
http://www.cg-glass.jp/products/search/
http://www.cg-glass.jp/products/search/
http://www.cg-glass.jp/products/search/

ZH$RES) SUMPO-EPD-2601-83-1 Su MPO

Environmental Product Declaration for Silvered flat-glass mirror . E o W Rd
VERIFIED
OLCA BIEIR
>EPDS 1 J1E#
BEI1T O HE—Hm B JI-TRE O X785
EPDF1TS  YAh54T B BEY L O ##HEYIH
Rk 0 HEfE B IEFE O kfE I of 55
Ho IR A &5 B J0-N\)y

BB Z/EBTM S REPDCEINKREZEEELTWR L TOEEYM MET-YIREEITO>TLWS8. EPDIZHITEK
EPDICBITBRFIMEDERRAE | FMEFIBHRINTNS,
BEHER/EBT NS0 ﬁgtﬁzuuui Y1, BROBE-BEOERZEGNEENEN, EFR1kgdhHYDEMEEEL
EPDICHT2. EERZRD B (A1~A3) OGHGHEHEDETEEIToHHER, FHEICH L TINTOE ZOFEHEN90% ~
L TFIRICRET %57 EH 110%0)F'EJ! INFBRTEERERLE,
AREPDTIIN THTSREEOE T (VX BROEHE-BEDELRDS) #4£ELTHY, £EEICE

i) o
RUREREPDOBRA 5 s e M THELE,
> LCARSEIEIR
=it} 1t
TEHMULIOEE
(BENDBRERE)
HEIO- (BEEEMERETLY
[CHERSH)
JATLER B Cradle-to Gate [0 Cradle-to-Gate with options (0  Cradle-to-Grave
LCAYIRIIT MIiLCA for EPD Ver3.2.0.0
LCIT—FN-X IDEAV3.1
L ETIV TURZED : IPCCESREIMEIR S Z(PCC,20134) . ZOMDRZE4E, © LIME2
ZOHONYIISIIRT-5 -
ZRT-IRE GPICHEDZRT-IRBEE/ELET-92BWTEEE T,

—RT-FRERS  BE

—RT-HUNERAR 2024448 ~2025FE38 D1ERDT-

EYHBExFORYVELN B 0/0770-F O -1/+1770-F
B B EO#EOFENREHIVIA O zofte

BHEHIC EE -

BY2E® BAE -

FEI1T7T -~
> EE I RERRE

155 PR EX s 5
> 1) Y ENLRED T b 7 TUREE 5
E MBS EL e HETEX B GhiEE Tt FRARER P& z
Al A2 A3 A4 A5 B1 B2 B3 B4  B5 B6 B7 CI 2 c3 | c4 D
B I 3] I - B A
=] = * ﬁ#: *®
7 % % HE M " o = s = 9
! A &l N e fE F | 1B FE = v " ) ) Bl ) g
o o & o | I B #® # | 3% & | g | B 1)) /)| -
A & & u L W o2 :
% s % s 2 -
E E m - - -~ - | - -~ -~ - - - - - - -

B EENR - HEHRA



SuMPO

JAPAN

Ei%&ES) SUMPO-EPD-2601-83-1 E p
Environmental Product Declaration for Silvered flat-glass mirror ..
VERIFIED

>707-v3y

AREFETE, GPICREFOFIETTOCAOB ML B LUV TOT -V 3V %R L,
T-IINERROTHTEMORREEEL TEY . MRERBOADTOCAT-FINEET ZIENHHETHIEND, HRERAK
CHEROEERELLZYEEOT-V3aVEERELL,

>hybA7

PCROAY MADEEECETE MBAEMCOVWTIHY A TEITH,

>YAT LIRS

PCRIZETERROIMTYA IV ERBE (L. [AMFEMRIOFEZECHRZTOCLA, [A2)EH RO THETO#EEICHRZTOTA, [A3]
HRmOBERBTOTAELLE,
KRV AT LR RIE100F TH2,

>IFUA
TYa1-l Bl

A2A3 EEEBOEMOBER., HXFERSIUOBEHZRFPCROVIUAZEALE,



Zi%&%S) SUMPO-EPD-2601-83-1 SumPO

JAPAN

Environmental Product Declaration for Silvered flat-glass mirror .. E I
VERIFIED

>BHETIVI

WHRETZETDIIITVATIERBEICHEWNT, 2018F(CHITZAARFHDRKENDT - 2RV TEEETO,

>317%49),70-K

\ Y27 LERA | mms |

A4 AS
B

B1-87
fEFRERR

c1-ca

‘ AL-3:BUSERE ‘ BESE - U YA U LBk

D
TEER s BT & B

‘ AL EEE ‘ A2 AN

‘ AZBGET AR R ‘

70— kMR
LT
i 55 A8 e

ZofsDBIRE

BERR | |[BENERN| HESRA HERSRN

[ Am — - |
| BENETAER | mmusszoex || ANt )




ZHES) SUMPO-EPD-2601-83-1 SuMPO

Environmental Product Declaration for Silvered flat-glass mirror . J R p -
VERIFIED
OETEHER
> 1TV IV EFEER
sms@Ee (A2l [A3]E&NE D HHRH

SURZEH) kg-CO.eq | 3.36E+02  2.75E+02 = 1.58E+03 -
AV BIE kg-CFC-11eq 7.09E-05 = 3.29E-09 = 5.06E-04 -
[7ye(e kg-SOzeq = 2.64E-01 = 4.61E-01 1.60E+00 -
PR TN S kg-SO.eq = 1.83E-01 = 1.77E-01  1.24E+00 -

KALFAFIIVUNER | kg-CoHeeq | 6.65E-03 | 1.23E-03 | 1.55E-02 -
BEEYESENAM) | kg-CeHeeq | 3.63E-01 | 1.36E-03  1.80E-01 -

BECEYE(EMN) kg-CeHeeq = 9.45E-03 = 8.97E-04 7.87E-03 -
KEAEREEMN kg-CeHseq = 1.54E+00 3.40E-05 @ 3.62E+00 -
B*ii““i'lét kg-CsHeeq | 2.04E+01 | 6.43E-04 = 4.74E+01 -

KRB kg-PO.*eq 9.50E-02 = 2.78E-09 | 4.92E-04 -
iﬂﬁlﬂ%(‘fﬁﬁ) m?/ 5 5.99E+00 1.12E+01 | 6.32E+00 -
T #F] A (EE) m? 2.70E-01 | 2.23E-01 = 1.49E-01 -
HRHEE kg-Sbeq | 1.81E+00 1.16E-03 | 1.24E-02 -

>J4ITYL1 IV IR M) B BIEER

nEmsmz [A2]EX  [A3]&E D ‘R
EEERREEIR kg 9.67E+02 = 2.46E-04 1.83E+01 -
FEBERTREIRILY - kg 1.58E+02 | 8.49E+01 | 4.78E+02 -
FEFEAREIRIY- M) 7.47E+03  3.81E+03 | 2.13E+04 -
HARREEIR kg 2.70E+02 = 6.29E-05 @ 2.22E+01 -
BERTREIRIF- M) 3.35E+02 = 8.50E-02 = 3.64E+03 -
WIKDEE m3 5.93E+00 4.98E-03 = 5.37E-01 -
P, CO2(LRBIRMM), A%, THE kg 3.07E+02 | 2.63E+02 @ 1.52E+03 -
R, B, 44.7M)/kg, B, JEBERREI RV - kg 6.39E+01  8.35E+01  1.94E+02 -
PR, BRIEARLAY, KT TEE kg 3.03E-06 = 1.96E-12 @ 6.91E-06 -
> BEEYRIERR

osssmz [A2]Ex [A3]RS D ERA
BERZEY kg 0.00.E+00 ' 0.00.E+00 5.00.E-01 -
BERZEY kg 2.68E+00 = 2.13E-06 = 2.20E+01 -
—RRBEEY) 1BUY kg 494E-09 = 3.56E-15 | 8.53E-01 -
EXREEY BIY kg 2.68E+00 = 2.13E-06 = 2.11E+01 -
XIMTY1INICE I 2EEY EERLTVET,
> A 70-ICBE9 3REEIR

smsEz [A2]Ex  [A3]RE D HHRH
B AR ER R kg - - - -
DAV ERM R kg - - - -
I F-[EIUX A kg - - - -
FERVNSOHH TR~ M) _ _ B B
(TRIVF-[EUNENE 260%)
ERVOKE v B B B B
(TRIVF-[EUNENEE < 60%)
AL BEERY) /Bl UE M) _ _ _ _

SLHFEEHA



Z$3®S) SUMPO-EPD-2601-83-1 SuMPO

JAPAN

Environmental Product Declaration for Silvered flat-glass mirror .. E I
VERIFIED

>LCAEERERICRIY 554

EMRFES X RV, REVEXROBEHCOVWT, —RT-IPESNAENTOTAICDOVTIE, PCRICE I FUAZEIC
BHELE

RENIBAEICOVT, BEEVAEREICST2, FEEERD . BHIL TOIERBEEI SN TREAE 126, EHREEY
EHIACT LR ELTEEIEHIITUBY LTEELR.

@ ENNIRIZIEER
> LCAICEREL BB INERIR SR

-1ISO14001:BEEEIS T35 (CTELE

>HEMHEICET 315K
BEYES CAS No. WAINSEEZEIRF OSSR
RWRUZOHBMELEY - L2 EHHICEEERREE
SRACEMEE - LY EBHICEE R REE
TUITVRVZDILEY - L2 EHHICEEERREE

BMBLUBRERN SO R E DR

ORFENER

| B

+1SO14025:2006 Environmental labels and declarations — Type Il environmental declarations — Principles and
procedures

+1SO14040:2006 Environmental management - Life Cycle Assessment - Principles and framework
+1SO14044:2006 Environmental management - Life Cycle Assessment - Requirements and guidelines

+1SO 21930:2007 Sustainability in building construction — Environmental declaration of building products



